

# A NEW ALGEBRAIC INEQUALITY AND ITS APPLICATION

ZHI-HUA ZHANG, XIONG-BIN DUAN, AND MING-HONG LI

ABSTRACT. In this short note, we give a new algebraic inequality, and by its application, we generalize a known result in [1].

## 1. INTRODUCTION AND MAIN RESULT

In 2003, the following algebraic inequality is proved by A.-L. Liu [1]:

**Theorem 1.1.** *Let  $a_i, 1 \leq i \leq 10$  be non-negative real numbers for  $\sum_{i=1}^{10} a_i = 30$ , then*

$$(1.1) \quad \sum_{i=1}^{10} (a_i - 1)(a_i - 2)(a_i - 3) \geq 0$$

In this short note, we give a new theorem for algebraic inequality, and by its generalization, we generalize inequality (1.1).

**Theorem 1.2.** *Let  $p, q$  be integers for  $p + q > 0$ , then the inequality*

$$(1.2) \quad \prod_{j=-q}^p (a - j) \geq (p + q)!(a - p)$$

*holds if  $p + q$  be a even number and  $a$  be a real number or  $p + q$  be a odd number and  $a + q + 1 > 0$ ; and the reversed inequality holds if  $p + q$  be a odd number and  $a + q + 1 < 0$ . With equality holding if and only if  $a = p$ .*

From Theorem1.2, we easily prove the following generalization of Theorem1.1:

**Theorem 1.3.** *Let  $p, q$  be integers for  $p + q > 0$ , and  $m, a_i, 1 \leq i \leq n$  be real numbers for  $\sum_{i=1}^n a_i = m \cdot n$ . If  $p \leq [m]$ ,  $p + q$  be a even number and  $a$  be a real number or  $p + q$  be a odd number and  $a_i + q + 1 > 0 (1 \leq i \leq n)$ , then*

$$(1.3) \quad \sum_{i=1}^n \prod_{j=-q}^p (a_i - j) \geq 0$$

*and the reversed inequality holds if  $p + q$  be a odd number and  $a_i + q + 1 < 0 (1 \leq i \leq n)$ . With equality holding if and only if  $p = m = a_i, 1 \leq i \leq n$ .*

## 2. LEMMA

**Lemma 2.1.** *Let*

$$(2.1) \quad u(x) = \prod_{j=1}^k (x - j) - k!$$

*then the equation  $u(x) = 0$  which have only real roots  $x_1 = 0, x_2 = k + 1$  if  $k$  be a even number, and which have only real root  $x_1 = k + 1$  if  $k$  be a odd number.*

---

1991 *Mathematics Subject Classification.* Primary 26D15.

*Key words and phrases.* Inequality, algebra, application, generalization.

This paper was typeset using  $\mathcal{A}\mathcal{M}\mathcal{S}\text{-}\mathcal{L}\mathcal{A}\mathcal{T}\mathcal{E}\mathcal{X}$ .

*Proof.* Denote  $\varphi(x) = \prod_{j=1}^k (x - j)$ , then the equations (2.1) and

$$(2.2) \quad u(x) = \varphi(x) - k! = 0$$

are equivalence.

To solve the equation (2.2), we firstly give the real roots of equation

$$(2.3) \quad |\varphi(x) - k!| = 0.$$

The equation (2.3) which have and only have real roots  $x_1 = 0, x_2 = k + 1$ , since the following (i)-(iii):

(i) By all appearances, real numbers  $x_1 = 0, x_2 = k + 1$  are the roots of equation (2.3).

(ii) When  $x > k + 1$ , we have  $|x - i| > k + 1 - i$  ( $i = 1, 2, \dots, k$ ), and when  $x < 0$ , we obtain  $|x - i| > i$  ( $i = 1, 2, \dots, k$ ), these both find  $|\varphi(x)| > k!$ .

(iii) When  $0 < x < k + 1$ , we have  $i$  in addition  $i - 1 < x < i + 1$  ( $i = 1, 2, \dots, k$ ), and  $|x - 1| < i, |x - 2| < i - 1, \dots, |x - i| < 1, |x - (i + 1)| < i + 1, |x - k| < k$ , these are  $|\varphi(x)| < k!$ .

The Lemma2.1 is proved, because  $|\varphi(x) - k!| = 0 \iff \varphi(x) - k! = 0$  or  $\varphi(x) + k! = 0$ . ■

From Lemma2.1 in  $k = p + q$ , where  $p, q$  be integers for  $p + q > 0$ , we have

**Remark 2.1.** *Let*

$$(2.4) \quad u(x') = \prod_{j=1}^{p+q} (x' - j) - (p + q)! = \prod_{j=-q}^{p-1} (x' - q - 1 - j) - (p + q)!$$

or

$$(2.5) \quad v(x) = \prod_{j=-q}^{p-1} (x - j) - (p + q)!$$

then the equation  $v(x) = 0$  which have only real roots  $x_1 = -q - 1, x_2 = p$  if  $p + q$  be a even number, and which have only real root  $x_1 = p$  if  $p + q$  be a odd number.

### 3. THE PROOF OF THEOREM1.2

Now, we give the following proof of Theorem1.2:

*Proof.* Set

$$(3.1) \quad f(x) = \prod_{j=-q}^p (x - j) - (p + q)!(x - p) = (x - p)v(x)$$

where  $v(x) = \prod_{j=-q}^{p-1} (x - j) - (p + q)!$ .

From Remark2.4, we obtain

$$(3.2) \quad F(x) = \begin{cases} (x - p)^2 g(x) & \text{if } p + q \text{ be a even number,} \\ (x + q + 1)(x - p)^2 h(x) & \text{if } p + q \text{ be a odd number.} \end{cases}$$

We easily know  $g(x) > 0$  and  $h(x) > 0$ , because  $g(x) = 0$  and  $h(x) = 0$  both have'nt real root.

Therefore

$$(3.3) \quad F(a) \geq 0 \begin{cases} \text{if } p + q \text{ be a even number and } a \text{ be a real number,} \\ \text{if } p + q \text{ be a odd number, and } a + q + 1 > 0. \end{cases}$$

The proof of Theorem1.3 is completed.

■

## REFERENCES

[1] A.-L. Liu. *The Solution of Mathematical Problem 1412*. Shuxueongbao, Beijin, (1)2003.

(Zh.-H. Zhang) ZIXING EDUCATIONAL RESEARCH SECTION, CHENZHOU, HUNAN 423400, P.R.CHINA.  
*E-mail address: zzzh1234@163.com & zzzzh@126.com*

(X.-B. Duan) NO.3 MIDDLE SCHOOL OF ZIXING, CHENZHOU, HUNAN 423400,P.R.CHINA.

(M.-H. Li) NO.1 MIDDLE SCHOOL OF ZIXING, CHENZHOU, HUNAN 423406,P.R.CHINA.